it '® B 1 =
1. EKXEAEDRAM

(Bf1:M)
X 4 BEDEE | EREMEE | LHiEMNEE LHEE A EE | BiRREMAR
HABE |Lih 1,183,993,200 0 o| 1,183,993,200
[E27) 148,426,006 105,793,800 9,893,454 244,326,352
Ha&lEf 20,250 0 0 20,250
HARBFEET 1,332,439,456 105,793,800 9,893.454| 1,428,339,802

2. ¥EEEDBHEM
(Bfi2: M)
X % BEDOIESE | atRkEMEE | HEfEMEE LEE AR | BiIRiREMAR
BEEE WEIERILE 10,260,000 0 10,260,000 0
HEEES 43,077,080 13,971,029 0 57,048,109
YBEEES 53,337,080 13,971,029 10,260,000 57,048,109

3. 51X EDERHA

BE55 4%
(B M)
o L HRR A %E -

: -1 = =P-GhEhIE] -1 =
® B HE%ES L HA N & SRR Py ARES
E55 4% 973,333 249,333 973,333 0 249,333

BEHRfTEISE
(B M)
o L HRR A %E -
: -1 = L HRtEAn%R -1 =
# B HE%ES L HA L N & SRR Py ARES
IRESAA AT
2|44 1,025,085 141,982 0 0 1,167,067
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